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Questions

What is correct about tendons?

The disorders in which there is an accumulation of uric acid in joints:

All these are the parts of axial skeleton of humans except:

Find the ball-and -socket joint:

The lens found in human eye is:

Night blindness is caused due to the deficiency of in body.

are sensitive to dim light.

Glucagon is secreted by gland.

Insulin is secreted by gland:

separates the middle ear from inner ear.

gland is pea-shaped.

Is the smallest bone of human body?

Answers Choice

A. Tendons are flexible and they join
muscles with bones.

B. Tendons are non-elastic and they
join bones with bones.

C. Tendons are non-elastic and they
join muscles with bones.

D. Tendons are flexible and they join
muscles with muscles.

A. Gout

B. Rheumatoid arthritis
C. Osteoporosis

D. Osteoarthritis

A. Ribs

B. Sternum

C. Shoulder girdle
D. Vertebral column

A. Joint in the finger bones.

B. Joint of neck and skull bones.
C. Joint at elbow

D. Joint at pelvic girdle and leg
bones.

A. Concave

. Convex
.Bothaandb
. None of these

[sy)

. Vitamin A
. Lodopsin
. Protein

. Fats

. Rods

. Cones
. Retina
. Cornea

. Exocrine

. Endocrine
.Bothaandb
. None of these

. Pancreas
. Adrenal
. Thyroid

. Malleus

. Stapes

. Incus

. eustachian tube

. Hypothalamus
. Pancreas

. Pituitary

. Adrenal

. Malleus
. Incus
. Stapes

C
D
A
B
C
D
A
B
C
D
A
B
C
D
A. Pituitary
B
C
D
A
B
C
D
A
B
C
D
A
B
C
D. Cochlea



